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8-2: Properties of Logarithms

| can understand the properties of logarithmg and use them to simplify logs.

| can apply multiple properties to a single logar
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Find the value of each logarithm without using a calculator.

X
1. log77,a/7 :7 X:j
2. log, 18— ’gé\% X—;i

3. logsl —= 6»<: | %O
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|Di of 1=0 |bi=‘00(S€

log.1=0 1n)1<=<3
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Evaluate the logarithm:
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Evaluate

log4 O 3 Ine’2 -0
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How would we write the following exponential as
(555%0= A
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Evaluate

5logs20_ 81}%\@7@
A
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Exponent Rules Review
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Product Rule of Logarithms Y
If M, N and b are positive real numbers, with b # 0, then

log, (MN)=1og, M +log, N
S~ _—

+C

Which exponent rule is this similar to?

St o £ ¢xponenss O\ 0\ 0\

Why would we want to be able to split up a logarithm?
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log,(5-3) In(62)
_ locjl (6> +|031(3> IV\‘(G)H N(2)

log,(9-5) log(Sw)
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How do you predict we would write the
following logarithm as two logarithms?

logb%: (bgbv(—— |oj N
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Write th owin

lgm {"34” %}loﬁy
log3(37m) :60?)37)* |033m>’\b%3 )
log3(%)= (Oi . C&— Ooﬁgﬂ% ?>




oooooooooooooo

Show that the following logs are equal:

Moath + 4 en+T
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Use the power Rule of Logarithms to express all powers as factors.
Lo g3
C-logs3=6' g?} Inx ;ji% -\nx

log, 5" logh’

6 - 1035 5 [og b
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Expand the logarithm.

log,(x"y”) log(IOOx ,
P | T
|0031X *@ (\0%|00*|03x>—2|_)03\)
2 log: X B\DOW

log, (a*h) log.| 21
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Write each of the following as a single logarithm.
log, 3+1log 12 = | Oﬁ L (3"2>
-2
X

loch—Z)—logx: [Oﬂ(xx )
log, x—3log 2 = \066 ( 3 >

<10g(x —1)+log(x +b— @
09 << )(x+ 1) >
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Rewrite and express interms of aand b
give t a=In3 and b=In4

In12

In16
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How do we evaluate logs in a calculator??

which means*

log M = logM _ InM

loga Ina
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Use your calculator to approximate the following:

log 45 :mﬁ
g@\> Ibo, 4
lo 375: loq—76

S 1043
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